

## G-25020/61/2019-ASSTT DIR FES

U. T. Administration of Daman & Diu,
Department of Fire & Emergency Services,
Fire Force Headquarters, Daman,
Daman – 396 215.
E-Mail ID; sfo-dmn-dd@nic.in



Dated: 28/08/2019

## AUCTION NOTICE

Public Auction of unserviceable items/articles in enclosed statement will be held on 16-09-2019 at 11:00 AM at Fire and Emergency Services, Fire Force Head Quarters, Somnath Road, Kachigam, Nani Daman.

Interested parties are requested to remain present on the day and time of auction. The auction items/articles are kept in the premises of Fire and Emergency Services, Fire Force Head Quarters, Somnath Road, Kachigam, Nani Daman for Public view.

The upset price of all the items/articles are shown against their names.

This is issued with the approval of the Hon'ble DIGP/Director of Fire and Emergency Services, Daman & Diu vide e-Office File No.  $\underline{G-25020/61/2019}$  dated  $\underline{28/08/2019}$ 

Assistant Director,
Fire & Emergency Services,
Daman.

Encl: As above Copy:-

- 1) All Head of offices in Daman with a request to display the above auction notice on their notice boards for wide publicity.
- 2) The Field Publicity Officer, Daman with request to arrange to publish the above auction notice in local newspapers one each in Gujarathi and Hindi. Cutting of above notice may please be sent to this office with your certification.
- 3) The DIO, NIC, Daman with a request to publish the same on NIC website.
- 4) The Chief Executive Officer, District Panchayat, Daman for wide publicity.
- 5) The Chief Officer, Daman Municipal Council for wide publicity.

P.T.O.

## Terms and conditions:-

- 1) This auction is on the condition "as is and where is" basis.
- 2) The Starting Bid Amount will be "Upset Price" of the Items.
- 3) The auction shall be held on bid system. Interested bidder shall have to deposit a token amount of  $\sqrt[3]{1,000}$  at the time of auction for taking part in it. The said amount shall be refunded back to the unsuccessful bidder after the auction.
- 4) An offer shall be considered as highest and final only if the amount of bid offered by the bidder is announced consequently three times uninterrupted.
- 5) The successful bidder shall have to deposit an amount equal to 50% of the highest bid offered as Security Deposit on the spot. Further he has to deposit balance amount within three days from the date of issue of letter accepting highest bid at his own cost. This department shall not be responsible for any loss/damage of the items it successful bidder fails to lift the items within stipulated time.
- 6) The successful bidder shall have to lift the auctioned articles within three days from the date of issue of letter accepting highest bid after which this office shall not be responsible for their safe custody.
- 7) The interested parties should inspect the items and satisfy themselves about their conditions etc. during office hours on any working day upto 15-09-2019
- 8) The bid shall be considered as final only after the approval of the competent authority and its decision as regards shall be final and binding on all the persons participating in the auction.
- 9) In case of failure of the highest bidder to deposit the amount of 50% of total amount of his/her bid, the deposit as made for security eligibility to participate in the auction will be forfeited to the government.
- 10) In case of failure by the highest bidder to lift the items within the given period, the amount of 50% of the total amount as per bid will stand forfeited to the Government.

11) The right to accept or reject any bid or all the bids without assigning any reason is reserved.

Assistant Director, Fire & Emergency Services, Daman.

## Statement of Unserviceable Items/articles

Sr. No.	Particulars of Store Items	Qty. (PCS/Kgs)	Upset price per unit	Total Value
C-	E-Waste Items			
1	Monitor Model-PHILIPS LED 193V	01 Nos.	25/-	25/-
2	Monitor Model- HCL LW98	02 Nos.	100/-	200/-
3	HCL Make Key Board	01 No.	10/-	10/-
4	UPS 600 VA HCL	04 Nos.	50/-	200/-
5	Calculator Casio Make	08 Nos.	5/-	40/-
6	Television Model- SAMSUNG No.CZ-21K5SB	01 No.	500/-	500/-
			Total (A)	975/-
D-	Other Electronics Items			
7	Water Cooler	02 Nos.	1000/-	2000/-
8	Refrigerator Model Whirlpool 260 Elight	01 No.	1000/-	1000/-
			Total (B)	3000/-
C- F	Fire Fighting & Others Items			
<u> </u>	Delivery Hose			NE PROZUMANOM PROMININA
9	RRL Delivery Hose Length 15 mtrs (SS)	05 Nos.	10/-	50/-
	RRL Delivery Hose Length 30 mtrs. (SS)	16 Nos.	15/-	240/-
10	Nitrogen Cylinder	04 Nos.	150/-	600/-
11	Portable Fire Extinguishers	05 Nos.	25/-	100/-
12	Search Light	08 Nos.	20/-	160/-
13	Vehicle Tyre Model No. 2.75.18 (Bike)	06 Nos.	5/-	30/-
14	Vehicle Tyre Model No7.50/16 with Drum	01 No.	100/-	100/-
15	Vehicle Tyre Model No. 9.00-20 (Dunlop)	09 Nos.	50/-	450/-
16	Gypsy Tyre Model No. 195/80R15	01 Nos.	50/-	50/-
17	Omni Tyre Model No. 145/80R12	04 Nos.	50/-	200/-
18	Jeep Tyre Model No.F78/15 LT	02 Nos.	25/-	50/-
19	Iron Cupboard (Size 3 x 6 Ft.)	02 Nos.	250/-	500/-
20	30 Ltrs. Capacity Empty AFFF Plastic cans.	329 Nos.	25/-	8225/-
21	Honda make petrol driven 5KVA Generator set	01 Nos.	1500/-	1500/-
22	Rubber Boat	02 Nos.	10/-	20/-
23	Plastic Chairs	16 Nos.	10/-	160/-
24	High Pressure Pump of R. O. Water Treatment	01 No.	500/-	500/-
25	Fuel Tank (FRP Boat)	02 Nos.	10/-	20/-
26	Battery Charger	01 Nos.	100/-	100/-
27	Petrol Driven Chain Saw	03 Nos.	500/-	1500/-
			Total (C)	14555/-

6. Telephone Instruments	08 Nos.	2 1 2 5 7	25/
	UO NOS.	3.125/-	25/-
7. Empty Toner Cartridges of Printer	05 Nos.	5/-	25/-
8. Empty Toner Cartridges of Xerox Machine	06 Nos.	5/-	30/-
9. Vehicle Scrap	800 Kgs. Approx.	18/-	14400/-
10. News Paper Scrap since August 2016 to June 2019	100 Kgs. Approx.	2/-	200/-
Total (D)			14680/-
Total Value (A+B+C+D) ₹			

Assistant Director,
Fire & Emergency Services,
Daman.